Multiplication et Division par 0,01 (I)

Trouvez chaque produit ou quotient.

2x0,01= 57 +0,01 =
70 - 0,01 = 12 +0,01 =
31 +0,01= 24 +0,01=
60 x 0,01 = 12 +0,01 =
1x0,01= 1+0,01=

81 +0,01= 73x 0,01 =
62 x 0,01 = 26 +-0,01 =
27 - 0,01 = 84 x 0,01 =
67 - 0,01 = 83x0,01=
3x0,01= 91 x 0,01 =
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Multiplication et Division par 0,01 (I) Solutions

2x0,01=0,02

70 +0,01=7000

31+0,01=3100

60 X 0,01 =0,6

1x0,01=0,01

81-+0,01=8100

62 x 0,01 =0,62

27 +0,01=2700

67 +~0,01=6700

3x0,01=0,03

Trouvez chaque produit ou quotient.

57 +0,01=5700

12 +0,01=1 200

24 +0,01=2400

12 +0,01 =1 200

1-+0,01=100

73x0,01=0,73

26 +~0,01=2600

84 x0,01=0,84

83 x0,01=0,83

91 X 0,01 =091
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